
Subject: Broken hash init()
Posted by penteado on Wed, 27 Oct 2010 22:57:03 GMT
View Forum Message <> Reply to Message

I just noticed that the init method is not properly creating hashes
from structures on some situations:

IDL> a={b:list(1,2)}
IDL> print,a
{<ObjHeapVar1(LIST)>}
IDL> print,a.b
       1
       2
IDL> h=hash(a)
IDL> print,h
B:        1

Or,

IDL> a={b:[1,2]}
IDL> print,a
{       1       2
}
IDL> h=hash(a)
IDL> print,h
B:        1

But this works:

IDL> a={b:9,c:[5,8]}
IDL> print,a
{       9       5       8
}
IDL> h=hash(a)
IDL> print,h
B:        9
C:        5       8
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